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CLASS : IX TOoPIC: PRATYAYA vwe=m: |

Whatis a wer= ? All inflections case endings and also affixes ( those
get attached to nouns at the end ) --- all these are collectively called as
werar: . In Sanskrit the we=: actually represents inflectional
morphology. In addition to that all the affixes of derivational
morphology is also counted among the group of pratyaya. Therefore
pratyay is much more than just a suffix and suffixes are also part of
pratyaya. It is a perfect mix of prakriti we=fer) and pratyaya (vwer=).

Here the word prakriti wresfe) represents all verb roots (&g ) and
nominal stems .Verb Roots (&g )become words only after enjoining
with §q_ pratyaya [ inflectional affixes ]. The word pratyaya
represents all kind of inflections. Every single word in Sanskrit must
have both the parts .

*No word can be used in Sanskrit without the appropriate inflectional
affix as per urfUri=r SRR - Gias—aw uew |
There are six main kinds of pratyayas

|. 9 9
2. fag =3 -
3. hd TIT:
4. dfgd g
5. @it U
6. 91q U
1. 99 U=



This o s==: include the suffixes added to form nouns in various
vibhakthees ( fawfw ). The word ( pradipadika ) 7@ forms words like
Tuor, Ty by addition of various g9 uer=-s.

2. fog e

This includes the ones forming various tenses and moods of the verbs . Root
9 formation of various verb forms like wafa, s1ea etc.

3. P T:

T, SR, ¥ , O, , T, a1 &9, ®aq ,and ® are some examples of
ol U

4. dfed ged:

U, 31, &, aa, ™u_, @9, and 3% are a few which comes under this
category.

5. @it g

e and &g comes under this topic.
6. #q UI:

Not in syllabus.

* In the above mentioned five categories few more pratyayas are there which
is not mentioned as that is not covered in the syllabus. Above said pratyayas
will be covered in class IX and X.

Today we are learning ®ar @,and qgA pratyayas from & uem: .

A. TaT U=

The meaning of war w==: 15 having done. For example

73+ war = diemn having read .

Here in ®war & becomes elided and @1 remains.



In any sentence there 1s one subject and verbs are more than one

then except the last verb war 1s added to all.

For example: %@ faemer e i variy |

In this sentence the subject is 3% and there are two verbs to go ()
and to read ( w=.). Except the last verb w3, war u=r=: 1s added in

T ( T+ HIAT = Tl )

Forms of roots made by adding war u=r= 1s as follows.

ROOt + wan Derivative Word meaning

9 + THAT CiEll Having been

T + HAT T Having gone

13+ Al qfSe Having read

3T + Al v (3 and 9 same | Having been
answer)

T+ HAT e Having drunk

A + THaA Bl Having given

S + e fream Having conquered

T + Al feerea Having existed

g9+ THAT gl Having seen

T+ THAT Bl Having bowed

o + THAl el Having remembered

g1 + THal gl Having killed

F + wal el Having done

T+ A et Having known




* The 9= and a1+ refer to the roots in Sanskrit grammar. =
means with an "1" sound and =1 without " 1" sound. In the
above given words ufsmr 1s 9 and g=am 1s 3.

B. 991 v

Now we will study g1 w==:. The verb form with this suffix is
used to express the sense of wish or or the mtention to do
something. In this g the verb root gets T suffix.

ROOt + T Derivative Word meaning

9+ T R intention to happen
T + T T intention to go
73 + THA qfodH, intention to to study
&S+ T EH intention to leave
T+ T Bk intention to drink
T+ T El intention to give
5 + T ST intention to win
T+ T TITTH intention to stand
T+ T A intention to see
T+ T TH intention to bow
T+ T I intention to sing
&+ T ke intention to kill

F + T HAHL intention to do

Grammatical rule: The verb with g7 suffix 1s independant of
number and gender of the subject ( noun ) and 1s used as




indeclinable. These verbs are independent and do not follow the
number and gender of the subjects.

Examples for wrar wer=:

|. arere: gew@n T8 st | The boy is going home after studying .

2. foar o e weie’ weata | Father went to village to meet his
brother.

3. Wiar s weRan st eeEfa | Mother 18 washing clothes after
cooking.

4. §: & e AR e | He 1s coming back from city after
completing the work.

5. fufer ®mM el 78 T=sfd | The teacher 18 going home after
teaching the students.

Examples for ga1 we=:.
|. arees: ufsqw, fammed m=sfa | The boy goes to school to study.
2. foem o =g $==fa | Father wants to go to village.

3. H W awRH. swefd | Mother wants to cook.

4. §: % shg TR A | He goes to city to work.

5. ferferer s utetyg®_ s=afa | The teacher wants to teach the
students.

Q 1. Fill in the blanks with correct word.
1. BFT: SRl -------- dfthargl: fasef=d | [ T + q9 |




5. 3 IMH --------- foenme™d T=a1f™ | [93 + THA |

(T HC | [ S [ [ — SIS GHIY NSl || o7+ qHA |
A1 2 1 [ — wea fasfa [ T+ T ]

S | p— saa: qead | [ & + T

ST [ ) (— 31t &ftforar: sufaer= || g + wan |
10. T 307 SRR - TeAl( SHIOTfT | [ & + T |

Q2. Write five sentences each for war and g u== s.

st s st s sk sie sk sk sk sk sk sk sk sk sk ok Rk

Q 1. Fill in the blanks with correct word.
Ao

. TH 2. g=a 3.7l 4. Hedl 5. UfSqH 6. UIGH 7. TqH 8. BH
9. shifger 10 . e

T ;|
@ g represents the verb form to express = an action which
preceeds another action . However it 1s used only 1f the verb 1s
prefixed with any preposition or 3usef like o , a1 39, v, 59, f7,
Ay, 1., fa, a1y, f, 3, R, e etc. In this the verb gets the
@q g . This z==a cannot be used without Iww .

Now the question arises as what 1s swerf ?

suer 18 a term used in Sanskrit grammar for a special class of
twenty prepositional particles prefixed to verb or to action nouns.

UG il FTASIT A |

JIEREER fogr uferad |



The first Iine of the sloka says that with usage of upasaragas the
meaning of the verb changes drastically. The second line 1s example

g Y -- 3omd meaning to steal

3R - food

fegr - roam

Swer - gift

Her - kill

qfgr - solve

This 1s how upasarga change the meaning of the verb.

Now we will learn = pratyaya.

Hence 3uert + qarer + o3 9o = 9aH,

SuE A | geE |9

q a 2ES ECR] Supply , give

3 il [t SIEiR Get, bring

it RS Y qfteas Leaving

3T T LY T coming

far W[ feee Laughing, smiling
q By Y qurey Bowing

Ry R Y B Respecting , praying
L 381 L frte observing

| e E2kS qa completing

a G Y S laughing




3 a Y 1T Getting , bringing

¥ | ™ 2kt LT Following

fa Sl LY fasm Resting

q 3T 2kt o Approaching , reaching
fa Bl gkt fasmar Understanding

30 T LY 3 Waking

37 F 2kt U Helping

31a &Y El CEr] Blocking

far
g
UIES

TER




When this pratyaya is added only = will remain in the word and @
and @ disappears.

Examples : @9 g=r= words are bolded and underlined.
|, §: UM: Sedw™ s HUMT |

He 1s doing work after waking .

2. AfdehT $Ya% YU UTaSl A |

Lathika 1s having breakfast after praying God.
3. 91T &Yl ATRTI  T9d: WEld |

Boy 1s feeling happy after listening the story.
4. §: foeread AT Hiews T |

He 1s going to playground after coming from school.

5. S Iv: YERd SEreAey Hafd |

People are becoming healthy by ( after ) laughing loudly.

6. @ o= ulRge 3fts emafa |

Thief 1s running fast after stealing the money.

7. THY: THH UREST yEd: 9@ |

Radhesh 1s feeling happy after avoiding bad company ( work)
8. dlcich: HEITATH 3UT9T USfd |

The boy is sitting and studying in the class

9. ATcTh: UUHERIG [WhR Tlghed TSl |

The boy is coming after receiving a prize from the Headmaster.



10. §: foare o8 &H U 9= 379 |
He 1s feeling happy for being the top in the school.

Q 1. Fill in the blanks with correct word.

I (= T 1 L —— gafd | ¥+ e+ & ]

2. & —---m-mm- SET: HerE U= | [ U+ T + Y |

QP 3P 111 ) S Fafshedi safa | [ R + 381+ =Y |
0S| R o[-0 [ —— TEI=R UF Fafed | | [ T+ T + & |
5. 38 WefiuT herpei, -------- A SFAAT [ 30+ B+ = |

6. TIAM ASH --------- didl 3T99ad | [3T + T + I

7. O U AUl e QMehTel ST | [37 + T + I |

P ) [ H— foh UM 7 [ 3 + T + Y |

9. fUar SHMIUT HeAlA -------- FrEterd T | [ 3+ A+ &Y |

10. 99 HIqe: 3T TG G --------- 39: TESEf | [ A+ 9"+ & |

Q 2. Write ten sentences using different =rq , 3wt and & ger= .

st st st s sk sk st sk st sk st sk s sk s sk s sk stk stk stk stk stk stok ko ko

Q 1. Fill in the blanks with correct word.
Ayl |

|. ufeed 2. gy 3. fafled 4. 3y 5. 3&vd 6. ST 7. ST 8.
™ 9. 3T 10. fasm=




